

Proposal #009252374 Prepared For Anchorage Ind School District

Attention: Amber Elder amber.elder@anchorage.kyschools.us

For the Purchase of:

Anchorage Independent Schools Into Math K-8 with Waggle - 5 year license

Prepared By Brent Offerdahl brent.offerdahl@hmhco.com

Please submit this proposal with your purchase order.

Purchase orders or duly executed service agreements for **Professional Services** purchased, must be submitted at least 30 days before the service event date.

For greater detail, the complete Terms of Purchases may be reviewed here: <u>http://www.hmhco.com/common/terms-conditions</u>

Coupon Code: PRODPB15

Send <u>Check Payments</u> to: HMH Education Company 14046 Collection Center Drive Chicago, IL 60693 Attention: Amber Elder amber.elder@anchorage.kyschools.us Send <u>Orders</u> to: orders@hmhco.com FAX: 800-269-5232

HMH Confidential and Proprietary

009252374 Sold:0000116457 Ship:0000116457

ISBN		Title		Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
S	Grade K tudent Digital Li	censes						
1894082	Waggle Math Di	I Student Resources 5 Year Grades K-5 igital Student Resources 5 Year Grades	5	\$193.50	45	\$8,707.50		\$8,707.50
т	Implementation otal for Student			\$8,707.50				
т	eacher Digital Li	censes						
1894090	9798202067228	Into Math VRS1 Teacher License WA	5 Year	\$1,588.50	2	\$3,177.00	\$3,177.00	
	Waggle Math Di Access to Teach	I Teacher Resources 5 Year Grades K-5 igital Teacher Resources 5 Year Grades ner's Corner						
		Digital Licenses		\$0.00				
		Vailable for Purchase						
	eacher Materials				_		• • • • • • •	
	9780358132653 9780358111931 9780358111757	Into Math Premium Manipulatives Kit C Into Math Teacher Edition Collection G Into Math Planning and Pacing Guide I Into Math TE Flipchart Grade K Into Math Unit Project Cards Grade K Into Math Game and Activity Cards Grad Into Math Math Reader Collection Grad	Grade K Grade K rade K	\$413.80 \$171.60 \$21.31 \$120.05 \$16.25 \$16.25 \$34.56	2 2 2 2 2 2 2 2	\$827.60 \$343.20 \$42.62 \$240.10 \$32.50 \$32.50 \$69.12	\$124.14 \$51.48 \$6.40 \$36.02 \$4.88 \$4.88 \$10.38	\$703.46 \$291.72 \$36.22 \$204.08 \$27.62 \$27.62 \$58.74
1814925	9780358608776	2020 Into Math Student Edition Collect Practice and Homework Journal Set 5		\$27.49	45	\$1,237.05	\$185.40	\$1,051.65
т	otal for A la Cart	Print Grade K te Items Available for Purchase		\$2,401.11				
Total fo	or Grade K			\$11,108.61				
	Grade 1							
S	tudent Digital Li	censes						
1894082	Waggle Math Di Implementation	I Student Resources 5 Year Grades K-5 igital Student Resources 5 Year Grades Success	;	\$193.50	45	\$8,707.50		\$8,707.50
	otal for Student	-		\$8,707.50				
	eacher Digital Li			• · · · · ·	_	•	•	
1894090	9798202067228	Into Math VRS1 Teacher License WA Grades K-5	5 Year	\$1,588.50	2	\$3,177.00	\$3,177.00	
		: I Teacher Resources 5 Year Grades K-5 igital Teacher Resources 5 Year Grades						
		Digital Licenses		\$0.00				
		Vailable for Purchase						
1732958 1753080 1749827 1749809 1749803 1749821 1729168	9780358111948 9780358111764 9780358111702	Into Math Premium Manipulatives Kit C Into Math Teacher Edition Collection C Into Math Planning and Pacing Guide of Into Math TE Flipchart Grade 1 Into Math Unit Project Cards Grade 1 Into Math Game and Activity Cards Gra Into Math Math Reader Collection Grad	Grade 1 Grade 1 rade 1	\$413.80 \$171.60 \$21.31 \$120.05 \$16.25 \$16.25 \$41.31	2 2 2 2 2 2 2 2	\$827.60 \$343.20 \$42.62 \$240.10 \$32.50 \$32.50 \$82.62	\$124.14 \$51.48 \$6.40 \$36.02 \$4.88 \$4.88 \$12.40	\$703.46 \$291.72 \$36.22 \$204.08 \$27.62 \$27.62 \$70.22
	9780358608783	2020 Into Math Student Edition Collect Practice and Homework Journal Set 5 Print Grade 1		\$27.49	45	\$1,237.05	\$185.40	\$1,051.65
	oon Code: PRODI	а	mber.eld	Attention: Amber Elder er@anchorage.kyschools.	us	orde	end <u>Orders</u> to: ers@hmhco.com K: 800-269-5232	
HMH 1404	I Education Comp 6 Collection Cent ago, IL 60693	bany	HMH Co	nfidential and Proprietar	у			
	009252374	Sold:0000116457 Ship:000011	6457	Page 2 of 10	Please s	ubmit this form	with your purcha	se order

009252374

Sold:0000116457 Ship:0000116457

Page 2 of 10

Value of

ISBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Charged Materials	
Total for A la Carte Items Available for Purchase		\$2,412.59					
otal for Grade 1		\$11,120.09					
<u>Grade</u> Student Digital							
-	3 Into Math VRS1 Student License WA 5 Year	\$193.50	45	\$8,707.50		\$8,707.50	
Package Inclue Into Math Dig	des: gital Student Resources 5 Year Grades K-5 n Digital Student Resources 5 Year Grades K-5						
	nt Digital Licenses	\$8,707.50					
Teacher Digital	Licenses						
Waggle Math	Grades K-5 des: gital Teacher Resources 5 Year Grades K-5 n Digital Teacher Resources 5 Year Grades K-5	r \$1,588.50	2	\$3,177.00	\$3,177.00		
	eacher's Corner er Digital Licenses	\$0.00					
	s Available for Purchase	φ0.00					
Teacher Materi							
1732959 978132861431 1753081 978035813267 1749828 978035811195 1749810 978035811195 1749804 978035811171 1749804 978035811171 1749822 978035811189 1729169 978132858412 Student Materia	 Into Math Premium Manipulatives Kit Grade Into Math Teacher Edition Collection Grade 2 Into Math Planning and Pacing Guide Grade Into Math TE Flipchart Grade 2 Into Math Unit Project Cards Grade 2 Into Math Game and Activity Cards Grade 2 Into Math Math Reader Collection Grade 2 	2 \$171.60	2 2 2 2 2 2 2 2 2	\$827.60 \$343.20 \$42.62 \$240.10 \$32.50 \$32.50 \$96.50	\$124.14 \$51.48 \$6.40 \$36.02 \$4.88 \$4.88 \$14.48	\$703.46 \$291.72 \$36.22 \$204.08 \$27.62 \$27.62 \$82.02	
1814927 978035860879	0 2020 Into Math Student Edition Collection wi Practice and Homework Journal Set 5 Year	th \$27.49	45	\$1,237.05	\$185.40	\$1,051.65	
Total for A la C	Print Grade 2 arte Items Available for Purchase	\$2,424.39					
Total for Grade 2		\$11,131.89					
Grade Student Digital							
1894082 979820206714 Package Includ Into Math Dig	3 Into Math VRS1 Student License WA 5 Year	\$193.50	45	\$8,707.50		\$8,707.50	
Implementati	ion Success nt Digital Licenses	\$8,707.50					
Teacher Digital	0	\$0,707.50					
-	8 Into Math VRS1 Teacher License WA 5 Yea	r \$1,588.50	2	\$3,177.00	\$3,177.00		
Waggle Math Access to Te	gital Teacher Resources 5 Year Grades K-5 n Digital Teacher Resources 5 Year Grades K-5 eacher's Corner						
	er Digital Licenses	\$0.00					
	s Available for Purchase						
Teacher Materi		0	0	¢007.00	¢40444	M7 00 40	
1732960 978132861432 1753082 978035813268 1749829 978035811196 1749811 978035811178 1749823 978035811172 978035811172 978035811170 1749823 978035811190 1729170 978132858413	 Into Math Teacher Edition Collection Grade 3 Into Math Planning and Pacing Guide Grade Into Math TE Flipchart Grade 3 Into Math Unit Project Cards Grade 3 Into Math Game and Activity Cards Grade 3 	3 \$171.60	2 2 2 2 2 2 2 2	\$827.60 \$343.20 \$42.62 \$240.10 \$32.50 \$32.50 \$82.62	\$124.14 \$51.48 \$6.40 \$36.02 \$4.88 \$4.88 \$12.40	\$703.46 \$291.72 \$36.22 \$204.08 \$27.62 \$27.62 \$70.22	
Coupon Code: PRC		Attention: Amber Elder		orde	end <u>Orders</u> to: ers@hmhco.com		
Send Check Paym	ents to: mpany	.elder@anchorage.kyschools.	us	FAX	K: 800-269-5232		

-

Proposal for Anchorage Ind School District

	•					
ISBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
Student Materials	6					
814928 9780358608806	2020 Into Math Student Edition Collection with Practice and Homework Journal Set 5 Year Print Grade 3	\$27.49	45	\$1,237.05	\$185.40	\$1,051.65
Total for A la Car	te Items Available for Purchase	\$2,412.59				
otal for Grade 3		\$11,120.09				
<u>Grade 4</u> Student Digital L	icenses					
	s: Il Student Resources 5 Year Grades K-5 igital Student Resources 5 Year Grades K-5	\$193.50	45	\$8,707.50		\$8,707.50
Total for Student	Digital Licenses	\$8,707.50				
Teacher Digital L		• • • • • • •	_	.	.	
	l Teacher Resources 5 Year Grades K-5 igital Teacher Resources 5 Year Grades K-5	\$1,588.50	2	\$3,177.00	\$3,177.00	
Total for Teacher		\$0.00				
A la Carte Items	Available for Purchase					
Teacher Material	5					
732961 9781328614339	Into Math Premium Manipulatives Kit Grade 4	\$413.80	2	\$827.60	\$124.14	\$703.46
753083 9780358132691	Into Math Teacher Edition Collection Grade 4	\$171.60	2	\$343.20	\$51.48	\$291.72
49830 9780358111979	Into Math Planning and Pacing Guide Grade 4	\$21.31	2	\$42.62	\$6.40	\$36.22
49812 9780358111795	Into Math TE Flipchart Grade 4	\$120.05	2	\$240.10	\$36.02	\$204.08
49806 9780358111733	Into Math Unit Project Cards Grade 4	\$16.25	2	\$32.50	\$4.88	\$27.62
49824 9780358111917 29171 9781328584144 Student Materials	Into Math Game and Activity Cards Grade 4 Into Math Math Reader Collection Grade 4	\$16.25 \$48.25	2 2	\$32.50 \$96.50	\$4.88 \$14.48	\$27.62 \$82.02
814929 9780358608813	2020 Into Math Student Edition Collection with Practice and Homework Journal Set 5 Year Print Grade 4	\$27.49	45	\$1,237.05	\$185.40	\$1,051.65
Total for A la Car	te Items Available for Purchase	\$2,424.39				
otal for Grade 4		\$11,131.89				
<u>Grade 5</u> Student Digital L	icenses					
394082 9798202067143 Package Includes Into Math Digita Waggle Math D	Into Math VRS1 Student License WA 5 Year s: Il Student Resources 5 Year Grades K-5 igital Student Resources 5 Year Grades K-5	\$193.50	45	\$8,707.50		\$8,707.50
Implementation Total for Student	Digital Licenses	\$8,707.50				
Teacher Digital L		.	_	AA ·	Aa :	
Waggle Math D	Grades K-5 s: Il Teacher Resources 5 Year Grades K-5 igital Teacher Resources 5 Year Grades K-5	\$1,588.50	2	\$3,177.00	\$3,177.00	
Access to Teac Total for Teacher		\$0.00				
	Available for Purchase					
Teacher Material						
		¢440.00	0	¢007.00	¢40444	¢700 10
'329629781328614346'530849780358132707'498319780358111986	Into Math Premium Manipulatives Kit Grade 5 Into Math Teacher Edition Collection Grade 5 Into Math Planning and Pacing Guide Grade 5	\$413.80 \$171.60 \$21.31	2 2 2	\$827.60 \$343.20 \$42.62	\$124.14 \$51.48 \$6.40	\$703.46 \$291.72 \$36.22
Coupon Code: PROD	amber elde	Attention: Amber Elder er@anchorage.kyschools.	us	orde	end <u>Orders</u> to: ers@hmhco.com K: 800-269-5232	
Send <u>Check Paymer</u> HMH Education Com 14046 Collection Cen Chicago, IL 60693	oany HMH Cou	nfidential and Proprietar				

009252374 Sc

Sold:0000116457 Ship:0000116457

Page 4 of 10

					-		
ISBN	Title		Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
1749813 978035811180 1749807 978035811174	10 Into Math Unit Project Cards Grade		\$120.05 \$16.25	2 2	\$240.10 \$32.50	\$36.02 \$4.88	\$204.08 \$27.62
1749825 978035811192 1729172 978132858415 Student Materi	51 Into Math Math Reader Collection G		\$16.25 \$55.20	2 2	\$32.50 \$110.40	\$4.88 \$16.56	\$27.62 \$93.84
1814930 978035860882	Practice and Homework Journal Se		\$27.49	45	\$1,237.05	\$185.40	\$1,051.65
Total for A la C	Print Grade 5 Carte Items Available for Purchase	9	\$2,436.21				
Total for Grade 5			\$11,143.71				
<u>Grade</u> Student Digita							
1894098 979820206730 Package Inclu	03 Into Math VRS1 Student License W des:		\$193.50	45	\$8,707.50		\$8,707.50
Waggle Mat Implementat	gital Student Resources 5 Year Grades 6 h Digital Student Resources 5 Year Grad ion Success						
	ent Digital Licenses		\$8,707.50				
Teacher Digita 1894106 979820206738		/A 5 Year	\$1,588.50	2	\$3,177.00	\$3,177.00	
Waggle Mat Access to Te	des: gital Teacher Resources 5 Year Grades (h Digital Teacher Resources 5 Year Grad eacher's Corner		¢0.00				
	ner Digital Licenses		\$0.00				
	is Available for Purchase						
Teacher Mater		it Cradaa	¢412.90	2	¢927.60	¢104.14	¢702.46
1732973 97813286143	53 Into Math Premium Manipulatives K 6-8	II Grades	\$413.80	2	\$827.60	\$124.14	\$703.46
1750434 978035811630 1756245 978035815703			\$21.30 \$171.60	1 1	\$21.30 \$171.60	\$3.20 \$25.74	\$18.10 \$145.86
1750452 978035811648	36 Into Math Unit Project Card Grade 6	3	\$16.25	1	\$16.25	\$2.44	\$13.81
1750458 978035811654 1750428 978035811624		Grade 6	\$16.25 \$120.05	1 1	\$16.25 \$120.05	\$2.44 \$18.01	\$13.81 \$102.04
Student Materi	•		φ120.03	1	φ120.05	ψ10.01	ψ102.0 4
1765490 97803582235		able) 5	\$27.51	45	\$1,237.95	\$185.85	\$1,052.10
Total for A la C	Year Print Grade 6 Carte Items Available for Purchase		\$2,049.18				
		3	\$2,049.10				
Total for Grade 6			\$10,756.68				
<u>Grade</u> Student Digita							
1894098 979820206730 Package Inclu	03 Into Math VRS1 Student License W	A 5 Year	\$193.50	45	\$8,707.50		\$8,707.50
Waggle Mat	gital Student Resources 5 Year Grades 6 h Digital Student Resources 5 Year Grad tion Success						
	ent Digital Licenses		\$8,707.50				
Teacher Digita	l Licenses						
1894106 979820206738	Grades 6-8	/A 5 Year	\$1,588.50	1	\$1,588.50	\$1,588.50	
Waggle Mat	des: gital Teacher Resources 5 Year Grades (h Digital Teacher Resources 5 Year Grac aacher's Corner						
	ner Digital Licenses		\$0.00				
A la Carte Item	s Available for Purchase						
Teacher Mater	ials						
Coupon Code: PR	ODPB15	Atte	ention:		Se	end Orders to:	
Send Check Paym			er Elder	.us	orde	ers@hmhco.com K: 800-269-5232	
HMH Education Co 14046 Collection Co Chicago II, 60693	ompany Center Drive	HMH Confidenti	al and Proprieta	ry			

Chicago, IL 60693

009252374 Sold:0000116457 Ship:0000116457

57 Page 5 of 10

I	SBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Material
1750436 1756246	9780358116325 9780358157045	Into Math Planning and Pacing Guide Grade 7 Into Math Teacher Edition Collection Grade 7	\$21.30 \$171.60	1 1	\$21.30 \$171.60	\$3.20 \$25.74	\$18.10 \$145.86
750454		Into Math Unit Project Cards Grade 7	\$16.25	1 1	\$16.25	\$2.44	\$13.81
1750460 1750430	9780358116561 9780358116264	Into Math Game and Activity Cards Grade 7 Into Math TE Flipchart Grade 7	\$16.25 \$120.05	1	\$16.25 \$120.05	\$2.44 \$18.01	\$13.81 \$102.04
	udent Materials	•	¢.20100	·	¢120.00	¢10101	\$10210
1765491	9780358223603	Into Math Student Edition (Consumable) 5 Year Print Grade 7	\$27.51	45	\$1,237.95	\$185.85	\$1,052.1
То	otal for A la Cart	te Items Available for Purchase	\$1,345.72				
Fotal fo	r Grade 7		\$10,053.22				
5	<u>Grade 8</u> udent Digital Li	consos					
1894098	-	Into Math VRS1 Student License WA 5 Year	\$193.50	45	\$8,707.50		\$8,707.5
1094090	Package Includes Into Math Digita	: I Student Resources 5 Year Grades 6-8	\$193.50	45	\$6,707.50		φο,707.5
т	Implementation	igital Student Resources 5 Year Grades 6-8 Success Digital Licenses	\$8,707.50				
		•	ψ0,101.30				
	eacher Digital Li 9798202067389	Into Math VRS1 Teacher License WA 5 Year	\$1,588.50	1	\$1,588.50	\$1,588.50	
	Waggle Math Di	I Teacher Resources 5 Year Grades 6-8 igital Teacher Resources 5 Year Grades 6-8					
То	Access to Teach otal for Teacher	ners Corner Digital Licenses	\$0.00				
Α	la Carte Items A	Available for Purchase					
Te	eacher Materials	6					
1732973	9781328614353	Into Math Premium Manipulatives Kit Grades 6-8	\$413.80	1	\$413.80	\$62.07	\$351.73
1750438	9780358116349	Into Math Planning and Pacing Guide Grade 8	\$21.30	1	\$21.30	\$3.20	\$18.10
1756247 1750456	9780358157052 9780358116523	Into Math Teacher Edition Collection Grade 8 Into Math Unit Project Cards Grade 8	\$171.60 \$16.25	1	\$171.60 \$16.25	\$25.74 \$2.44	\$145.86 \$13.81
1750462		Into Math Game and Activity Cards Grade 8	\$16.25	1	\$16.25	\$2.44	\$13.81
	9780358116288 udent Materials	Into Math TE Flipchart Grade 8	\$120.05	1	\$120.05	\$18.01	\$102.04
1765492	9780358223610	Into Math Student Edition (Consumable) 5 Year Print Grade 8	\$27.51	45	\$1,237.95	\$185.85	\$1,052.1
То	otal for A la Cart	e Items Available for Purchase	\$1,697.45				
Total fo	r Grade 8		\$10,404.95				
А	Advance la Carte Items A	<u>d 1</u> Available for Purchase					
Те	eacher Materials	6					
	9780358116318	Into Math Planning and Pacing Guide	\$21.30	1	\$21.30	\$3.20	\$18.10
		Advanced 1	• • • •				
1756248	9780358157069	Into Math Teacher Edition Collection Advanced	\$171.60	1	\$171.60	\$25.74	\$145.86
1750453 1750459	9780358116493 9780358116554	Into Math Unit Project Cards Advanced 1 Into Math Game and Activity Cards Advanced	\$16.25 \$16.25	1 1	\$16.25 \$16.25	\$2.44 \$2.44	\$13.81 \$13.81
	9780358116257 otal for A la Cart	1 Into Math TE Flipchart Advanced 1 te Items Available for Purchase	\$120.05 \$293.62	1	\$120.05	\$18.01	\$102.04
T	r Advanced 1		\$293.62				

A la Carte Items Available for Purchase

Coupon Code: PRODPB15

Attention: Amber Elder amber.elder@anchorage.kyschools.us

HMH Confidential and Proprietary

Send <u>Orders</u> to: orders@hmhco.com FAX: 800-269-5232

Send <u>Check Payments</u> to: HMH Education Company 14046 Collection Center Drive Chicago, IL 60693

009252374 Sold:0000116457 Ship:0000116457

6457 Page 6 of 10

			•				Value of
	ISBN	Title	Price	Quantity	Value of all Materials	Value of Free Materials	Charged Materials
	eacher Materials						
732973	9781328614353	Into Math Premium Manipulatives Kit Grac 6-8	es \$413.80	1	\$413.80	\$62.07	\$351.73
750437	9780358116332	Into Math Planning and Pacing Guide Advanced 2	\$21.30	1	\$21.30	\$3.20	\$18.10
756249	9780358157076	Into Math Teacher Edition Collection Adva	nced \$171.60	1	\$171.60	\$25.74	\$145.86
750455 750461	9780358116516 9780358116578	Into Math Unit Project Cards Advanced 2 Into Math Game and Activity Cards Advan 2	ced \$16.25 \$16.25	1 1	\$16.25 \$16.25	\$2.44 \$2.44	\$13.81 \$13.81
750431 T			\$120.05 \$645.3 5	1 i	\$120.05	\$18.01	\$102.04
otal fo	or Advanced 2		\$645.35	5			
٨	Accelera	<u>ted 7</u> Available for Purchase					
	eacher Materials						
- '50439	9780358116356	Into Math Planning and Pacing Guide	\$21.30	1	\$21.30	\$3.20	\$18.10
56250	9780358157083	Accelerated 7 Into Math Teacher Edition Collection	\$171.60	1	\$171.60	\$25.74	\$145.86
50457	9780358116530	Accelerated 7 Into Math Unit Project Cards Accelerated 7	y \$16.25	1	\$16.25	\$2.44	\$13.81
50463		Into Math Game and Activity Cards Accelerated 7	\$16.25	1	\$16.25	\$2.44	\$13.81
	9780358116295 otal for A la Car	Into Math TE Flipchart Accelerated 7 te Items Available for Purchase	\$120.05 \$293.62	1	\$120.05	\$18.01	\$102.04
otal fo	or Accelerated	7	\$293.62	2			
		onal Services - Into Math K-5 Ve	rsion 1 WA				
C 83292	oaching 9798202010903	Coopely Cotting Started Live Online 1 Lie	ır \$400.00	1	\$400.00	\$400.00	
	In this initial district the Coachly expe student and teach most of their Coac		e n he				
83291	In this building lev explore the Coach of collaboration or	Coachly Leader Success Live Online 1-Ho Grades K-12 rel leader-focused session, participants will ally experience, discuss its value and the imp a student and teacher growth, and develop a the most of their Coachly partnership.		1	\$400.00	\$400.00	
	and details aroun	mmendations for usage and progress monit d next steps for teachers to launch their	oring				
868040	program expertise driven, actionable teacher is matche	Connected Solutions Into Math Coachly 4 Person Subscription 1 Year Grades K-5 one-on-one coaching to teachers to build th a, support lesson planning, and discuss data strategies to grow teacher practice. Each d with a certified coach with whom they can	eir -) 1	\$6,500.00		\$6,500.00
-	Coachly 4+ annua and 1 in-person c support individual lesson planning, a		nses ,	0			
	otal for Coachin	•	\$6,500.0	0			
	9798202066863	Support for Into Math K-5 Version 1 V Into Math VRS1 WA Getting Started In-Pe) 1	\$4,200.00		\$4,200.00
	components of Int through a lesson,	6-Hour Grades K-5 etting Started, participants explore the esser to Math K-5 and its instructional model, walk and practice accessing key resources on H t learning, they collaborate with colleagues t	tial MH				
Coup	oon Code: PROD	PB15	Attention: Amber Elder			end <u>Orders</u> to: ers@hmhco.com	
	d Check Paymen	ts to:	er.elder@anchorage.kyscho	ools.us	FAX	K: 800-269-5232	
1404	Education Comp 6 Collection Cen ago, IL 60693		H Confidential and Propri	etary			

						-		
I	ISBN	Title		Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
	Participants become	ogram and engage in rich discus prepped and ready to plan their rning on the Teacher Success Pa	first lessons					
1894110	days. Ongoing traini their Into Math K-5 T learning pathway off including live sessio resources, to help te learning using their u pathway topics, they 9798202066849 live This two-hour Gettim new program's struct recommendations. T	e initial step towards a successfung and support will be provided of eacher Success Pathway. This gers a recommended sequence on several sequence of the second sequence of the second sequence of the second	on Ed through guided f topics, d related student rs complete on. ted Live chers to their iplementation //H's teaching	\$800.00	1	\$800.00	\$800.00	
	Ongoing training and teachers will access grade level and impl sequence of topics, interactive media, ar teach, and assess s	e initial step toward a successful d support will be also provided or a guided learning pathway base ementation timeline. A recomme which includes live sessions, vid nd related resources, will help tea tudent learning using their new H lete each pathway topic, they rection	n Ed. There, d on their nded eos, achers plan, IMH program.					
1768332	9780358242550 C Participants will lear direct instruction, pa behind Waggle - an all learners that unifi also gaining an unde program. The goal is confidence to begin	Setting Started: Introduction to W ive Online 2-Hour Grade K-8 in the hows and whys of Waggle! rticipants will learn the driving phengaging, productive practice er es content and empowers teach erstanding of the real-world appli to build deeper understanding a implementing Waggle in their res	Through hilosophy hvironment for ers- while cation of the and	\$800.00	1	\$800.00	\$800.00	
1894113	During this one-hour design and resource develop a plan to gu successful start, HM student learning pra	nto Math VRS1 WA Leaders Suc Online 1-Hour Grades K-5 live online session, leaders lear s of their HMH program. To help ide implementation and set up te H Coaches share tools and best ctices to observe in the classrooi acher Success Pathways and res	n about the leaders eachers for a teaching and m. Leaders	\$400.00	1	\$400.00	\$400.00	
То	otal for Implement	ation Support for Into Mati /ersion 1 WA	h K-5	\$4,200.00				
<u>Total fo</u> WA	or Professional S	Services - Into Math K-5	Version 1	\$10,700.00				
		al Development for Into	Math 6-8	Version 1 WA				
1866756		Connected Solutions Into Math C icense 1 Year Grades 6-8	oachly Digital	\$1,500.00 \$2,550.00	2	\$3,000.00	\$450.00	\$2,550.00
	•	port for Into Math 6-8 Ver	sion 1 WA	φ2,550.00				
	9798202066917 li	oport for Into Math 6-8 Vers nto Math VRS1 WA Getting Start -Hour Grades 6-8		\$4,200.00	1	\$4,200.00		\$4,200.00
	components of Into I a lesson, and practic strengthen learning, their new program a become prepped an continue learning on Started is the initial s	ng Started, participants explore t Math and its instructional model, e accessing key resources on H they collaborate with colleagues nd engage in rich discussions. P d ready to plan their first lessons the Teacher Success Pathway. step towards a successful first 3 d support will be provided on Ed	walk through IMH Ed. To to explore articipants as they Getting days.					
Coup	oon Code: PRODPE	315		Attention: Amber Elder			end <u>Orders</u> to: ers@hmhco.com	
HMH 1404	Check Payments Education Compare 6 Collection Center Ago, IL 60693	лу		ler@anchorage.kyschools.u		FA	X: 800-269-5232	
	009252374	Sold:0000116457 Ship:000	0116457	Page 8 of 10	Please s	ubmit this form	with your purcha	se order

009252374 Sold

Sold:0000116457 Ship:0000116457 Pag

```
Page 8 of 10
```

l	ISBN Tit	le	Price	Quantity	Value of all Materials	Value of Free Materials	Value of Charged Materials
1894115	Into Math Teacher Success Pathway. This guide pathway offers a recommended sequence of top sessions, videos, interactive media, and related teachers plan, teach, and assess student learnin HMH program.? After teachers complete pathwa receive a certificate of completion. 9798202066894 Into Math VRS1 WA Getting Online 2-Hour Grades 6-8 This two-hour Getting Started session introduces new program's structure, essential resources, ar recommendations. Teachers will also explore Ec and learning platform, and the professional learn	ics, including live resources, to help g using their new ay topics, they Started Live s teachers to their nd implementation J, HMH's teaching ing pathway on	\$800.00	1	\$800.00	\$800.00	
1894118	Ed. Getting Started is the initial step toward a su days. Ongoing training and support will be also p There, teachers will access a guided learning pa their grade level and implementation timeline. A sequence of topics, which includes live sessions interactive media, and related resources, will hel teach, and assess student learning using their n After teachers complete each pathway topic, the certificate of completion. 9798202066924 Into Math VRS1 WA Leaders	provided on Ed. thway based on recommended , videos, p teachers plan, ew HMH program. y receive a	\$400.00	1	\$400.00	\$400.00	
	Online 1-Hour Grades 6-8 During this one-hour live online session, leaders design and resources of their HMH program. To develop a plan to guide implementation and set successful start, HMH Coaches share tools and student learning practices to observe in the class also preview the Teacher Success Pathways an HMH Ed for ongoing support. otal for Implementation Support for Into I Version 1 WA	learn about the help leaders up teachers for a best teaching and sroom. Leaders d resources on	\$4,200.00		0.000		
Total fo Versior	or Professional Development for Into <u>n 1 WA</u>		\$6,750.00				

Subtotal Purchase Amount:	\$116,653.72
Shipping & Handling:	\$4,573.39
Total Cost of Proposal (PO Amount):	\$121,227.11

Coupon Code: PRODPB15

Send <u>Check Payments</u> to: HMH Education Company 14046 Collection Center Drive Chicago, IL 60693 Attention: Amber Elder amber.elder@anchorage.kyschools.us Send <u>Orders</u> to: orders@hmhco.com FAX: 800-269-5232

HMH Confidential and Proprietary

Total Cost of Proposal (PO Amount): \$121,227.11

Thank you for considering HMH as your partner. We are committed to providing an excellent experience and delivering ongoing, highquality service to our customers. To meet these goals, we want to ensure you are aware of the below Terms of Purchase. These terms help us process your order quickly, efficiently, and accurately, ensuring successful delivery and implementation of our solutions.

- · Please return this cost proposal with your signed purchase order that matches product, prices and shipping charges.
- Provide the exact address for *delivery* of print materials. The shipping address may be your district warehouse or individual school sites, but it is essential that this is accurate.
- Please supply the name of each important district point of contact for all aspects of the solution including their direct contact information (email/phone):
 - o Point of Contact for Print materials
 - o Point of Contact for Digital materials
 - o Point of Contact for Scheduling Professional Development
 - o Email address for Accounts Payable contact
- · Please confirm that we have the correct 'Ship to' and 'Sold to' information on the cost proposal.

Ship to:	Sold to:
Anchorage ISD	Anchorage ISD
11400 Ridge Rd	11400 Ridge Rd
Anchorage, KY 40223-2444	Anchorage, KY 40223-2444

- Please provide funding start and end dates.
- Please note HMH bills products and services as they are fulfilled. You may receive multiple invoices for your order.
- HMH reserves the right to transmit documents electronically.
- Our payment terms are 30 days from the invoice date.
- Print subscription material quantities may be adjusted across grades for like products, to accommodate enrollment fluctuations, quantities cannot be adjusted between different programs or copyrights.
- · Our shipping terms are FOB shipping point. The shipping term for your proposal is Shipping Point.
- Any proposed shipping or tax amount provided on this proposal, is based on the Ship To account location quoted within.
- If the location of your delivery changes, please include the proper sales tax and shipping charges for that location in the applicable Purchase Order
- Should any of these Terms of Sale conflict with any preprinted terms on your purchase order, the HMH terms of service shall apply.

Thank you in advance for supplying us with the necessary information at time of purchase.

Our goal is to ensure your success throughout the duration of this agreement, which starts with a highly successful delivery of our solution.

For greater detail, the complete Terms of Purchase may be reviewed here: http://www.hmhco.com/common/terms-conditions

Date of Proposal: 1/15/2025



Coupon Code: PRODPB15

Send <u>Check Payments</u> to: HMH Education Company 14046 Collection Center Drive Chicago, IL 60693 Attention: Amber Elder amber.elder@anchorage.kyschools.us Send <u>Orders</u> to: orders@hmhco.com FAX: 800-269-5232

Proposal Expiration Date: 3/1/2025

HMH Confidential and Proprietary

and Proprietary

009252374 Sold:000011645

Sold:0000116457 Ship:0000116457

Page 10 of 10

Please submit this form with your purchase order